SmallRig

8 x Telephoto Lens
for Mobile Phone (T-mount)
8 x FHIMEREFEL (T£0)

Operating Instruction / #&{E3&3|




In order to ensure user's safety and prevent the product damages caused by any
improper use, please carefully read the "Warnings" below and keep this Operating
Instruction for future reference

ATRBERAENRSLURIERSERSE-RIRN, BEERFRIRAFR
W EBRR, HZEREFFMEY, NSNS,

Foreword / HisS

Thank you for purchasing SmallRig's product
RSREESmallRigF=a

Warnings / EE{27R

1. Please read this Operating Instruction carefully before using this product.
ERAFRZE, BIFRERERES.

2. Please pay attention to all warning prompts and follow all instructions in the
Operating Instruction,
BERTEE SR EEERIRIFES I ANREES.

3. Please do not use the product in water, it does not feature dustproof and waterproof
functions.

EPIEKDER, K@ REERE. BkIEE.

4. Please do not subject the product to severe collisions or impacts
B RISERE, ZRaERRPE.




In the Box / 258

8x Telephoto Lens x1
8f&Hk

Mobile Phone Lens Clamp x1
skt

Desktop Tripod x1
SE RIS

Tripod Support Adapter x1
XEERR

Silicone Lens Caps (Lens Cap + Eyepiece Cap)
BERELE (RLHEHRE)

Product Installation | =R%&%

Storage Bag
[helal

Cleaning Cloth

S
"ia

Operating Instruction
BIEES

Guarantee Card
REF

1. Attach the Lens Clip to the Mobile Phone | # A F4,
(1) Keeping the lens clip knob facing up, pull the lens clip open and attach the mobile

phone to the clip as shown on the picture.

MEFTR, KELRIEREA £, FFRLEAFN.,

\

x1

x1

x1

x1

x2




2. Adjust the T-mount | FET-ROFUAL

(1) Slide the lens clip up and down until the T-mount is at the same level as the

phone's main camera

EFEshgsk, BETROSERELREE KL,

(2) Loosen the knob clockwise and slide the backplate left and right until the T-mount

is perfectly aligned with the main camera

ImBEHTIAIER, AABHEREETFASEEELTENE.

(3) Tighten the knob counterclockwise to secure
WBIEHTEIEH, SRR,

Do not over-twist the knob to avoid
the knob coming out completely.
EER:

BASENE R, BREHTE
BHEEE,

Slide up and Down

ErEE

Aim at the main camera
SRR




3. Mount the Tripod Support Adapter | 3 A X Z2E T

(1) Loosen the adapter ring knob clockwise, as shown on the picture, insert the 8x
lens, and rotate the knob counterclockwise to secure

WNE, IRESEHTAIRIRIER, HoERRAR D, W E iR A E R,

Tripod Mount Adapter
| IEUESER

4. Mount the 8x Telephoto Lens onto the T-mount Backplate | 3\ 8&&

(1) Mount the 8x Telephoto Lens onto the T-mount backplate, as shown on the
picture, and rotate the lens clockwise to secure.

BEFLMETRRATROSERE, N EERLFOEERSRREI,




5. Operate the 8x Telephoto Lens | & F3 8145 121F

(1) Adjust 8x Telephoto Lens' focus by rotating the focus ring in the front of the lens.
LB e Rk EIMIAEE, BRI,

Note:

@ Please take off silicone cover before
using the 8x Telephoto Lens.

@ Please deactivate the macro mode
when using the 8x lens with the
main camera.

@ Adjust the camera magnification
to 1.1x or higher in case of
vignetting.

EER:

OfEF/\ &5, ERTERE.

QEFABMEFES, EXAFHREN
BIRMEETNAE,

QENAEREY, WHENERER
11 ERES.

6. 1/4"-20 Threaded Holes | 1/4”-20 $24F,,

(1) Lens clip and tripod support adapter feature 1/4"-20 threaded holes for mounting
onto tripods or other equipment.

Tk KA MR EEBIIFE1/4"-20 84031, TIOMERZRMERA.

1/4"-20 Threaded Holes 1/47-20 Threaded Holes
114720 $BEXF, 1/47-20 SRATA,




7. Desktop Tripod | S2E = H#IZ2
(1) The tripod features a 1/4"-20 screw on top, allowing for attaching a wide range
of equipment.
ZHIZRIREPRFA1/4"-20 SRAERIAR, [ZRBHME1/4"-20 BLFLIRE.
(2) 360° ball head allows multi-angle adjustment.
360° HhZmE, IFSHEBHIET.
(3) The Extendable central column of the tripod consists of three sections.
Storage length: 18cm (7.1in), max height: 30cm (11.8in), payload: 1.5kg (3.3Ib).
BIZRRI =58, WIS 18cm, RI{PHEE30cm, REEET 5kg.

---1/4"-20 Screw

1/4"-20 4242
360° Ball Head ------
360" LR E




Manufacturer. Shenzhen Leqi Innovation Co., Ltd.
Add: Rooms 103, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50
Guanguang Road, Longhua District, Shenzhen, Guangdong, China.

Consignor: Shenzhen LC Co., Ltd
Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road,
Xinlan Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China.

BIFTRIBBIRAS

ok Ebl}‘%té YA A KA ATEHT R KIL6EE 1301-50 SFEM TR
J7FE5 # 103, 501, 601

EER AR KRG IRAT

otk P ESARERYIT L XIRANE SR XV 1301-50 SFATE
7B 51k 602

SAATHRAE: GB/T 26572-2011 LQ-P1371-18

RoHS CE® H A

PEFIE
Séparez les éiéments avant de trier Made in China




